OIL & GAS WELL ANALYSIS
1-300-310-1335

Scale 1:240 (5"=100") Imperial
Measured Depth Log

Well Name: UTICA SAMPLE MUDLOG
Location:
License Number: Region:

Spud Date: Drilling Completed:
Surface Coordinates:

Bottom Hole Coordinates:

Ground Elevation (ft): K.B. Elevation (ft):
Logged Interval (ft): : Total Depth (ft):
Formation:
Type of Drilling Fluid:
Printed by MUD.LOG from WellSight Systems 1-800-447-1534 www.WellSight.co

OPERATOR

Company:
Address:

Comments

Mudloggers

ROCK TYPES

(I |
Congl

Dol

cht
Clyst




—~
-
R
(@]
c
=}
()
©
L

000€ 0002
(1) Buiyuion




Elevation

True Vertical Depth (ft)

2000 4000
Vertical Section (ft)

TG, C1-C4n
ROP (ft/hr) — TG (Units) —
Gamma (API) — C1 (units) —
. C2 (units) — GEOLOGICAL
o Litholog) Z 11 c3 it —— [{|| DpescripTIONS
all 1
[| C4n (units) —
0 Inclination 100 fo ROP|(ft/hr) 100[ =1 T, CL-Can Bit #1 14 3/4"Numa FB
Gamma (AP 2008 Q 1D0 0ho
: W/Air Hammer,in 515'
R Cad 90%Cement,SS,vit-
(E:'O'B 5200 @ : Itgy,sbrnd,vf- fg,Isrtd, TR
J:49pm SH
Z: 80%Cement,SH,gy-
I - Tu mgy,blky,sl slty,
= ~ H | ncalcSS,ltgry,fg,shang
I <4 1 11 -sbrnd fwsrto




| Soaping r,( E
WOB 25K &
PSI 343 m = 3
RPM 77 g_—: 138 [0
T e {
g ———— I SH,gy,mgy,mfrm,
. ——— || blky sl slty,ncalc
! — =—— ! SS,ltgry,fg,shang,
1 —— I sbrnd, Isrtd -fwsrtd
I =— | |l 30
— —— ! connections
Midnight === — I
-3 Depth ::: i
593' = !
WOB 35 ™ e o SH:mdk-dkgy,mfrm,
PSI 369 A - blky,ncalcSS,off-wht-
................ 9u CG wht fg,wsrtd, COALTR
RPM 57 il N wht !
0 Inclination 100:|ﬂ ~ ROP (thr) 10 3] Tk c1lcan
Gamma (API) 200 1 Q 1D0 opo
/ |
.M’ﬁ [ — :
— & i SH,mgy-mdkgy-dkgy,
- o mfrm,blky-vf plty,SS,
mm.llllllll T— e 8u CG wht-clr,vffg,shang,
e P —— pyrxls,SLTS,mdkgry-
—a - brn,bcmg arg,musc
Y 1—=—= : bio,pyrxIsTR,COAL
J = .
< —1X
3 i
[ d —
L —
WOB 4-7 = 8 SH,dkgy-mdkgy, mstly
PSI 371 o . mfrm-vf frm,blky,
RPM 35 T . 7 13u CG ncalc,SS,off wht-clr,
- fg,occ slty,sbang-
i sbrnd,abnt pyrxls,
. vsl calc,TR SLTS
P |
= e L SH:mdkgy-dgy,mfrm,
3 — = blkyplty,ncalc,SS,wht-
e =] § 9u CG tan vfg,sbang,gsph,
MD 689 TVD 689 10 A =———= .. vsl calcTR, SLTS
Soaping Az 0° Inc 0.92 y ——! .
WOB 3-7 —_—
PSI 377 =118
y < —
RPM 68 / ———
==
O [ SH,mgy-mdkgy-dkgy,
2 = — mfrm,blky-vf plty,SS,
,\ e .;:3 - wht-clr vffg,shang,
T— N N pyrxls,SLTS,stngr
1 ==
i LT — i —— .
] | ——— & 30'
' = connections
............... - (\— —H
M = — = SH.mgy-mdkgy-dkgy.
T ey — | mfrm- vf sft,blky-vf
WOB 3-7 i S S——— plty,SS,wht-clr vfg,
PSI 338 SRR, =—— |3 shang,pyrxls,SLTS,
RPM 62 4::.—:4— |
b — — 5uC
| _L ;_—__ 11 I




il 48 =
i =
'iii=w7 gf—
O — SS,wht-off wht-clr,
( — vfg-fg,shang,gsph,sl
\N = Al slty,pyrxis,vsl calc
A= — SH,mgy-mdkgy-dkgy,
— mfrm- vf sft blky-vf
P =:: f pIty,SLTS,It-mgy,mOd my|
_ cmt,occ aer,musc bio
S N—
==
WOB 2-5 I i e W
PSI395 b nclination 1000 ROP(h) 1 00— 4| & TE.c1lcan
RPM 114 _ _Gamma (APl) | \=——paed— . 0 4u- 1o opo SH,mgy-mdkgy-dkgy,
H = mfrm,blky-vf plty,SS,
HHRRRRRRAREE [ — wht-clr,vfg,sbang,
= B pyrxls,SLTS,stngr
T — - E— Qu CG
) =
(\ —
2> ———=1
== 11 SH,mdkgy-dkgry,
~N | mfrm,blky,vsl-ncalc
/) = _M SS,wht-off wht-clr,
= fg,sbang-sbrnd,sl slty,sl
Soaping \. = calcTR,SLTS
WoBL s T ==
PSI378 T [———— 3 10u CG
RPM 28 | — — |®
3 — —
~———
o~ = —
Q) —
/ | — Q;O'V SH,mdkgy-dkgy,
S connections mfrm,blky,vsl-ncalc
< e il SS,wht-off wht-clr,
\‘ ———— HH fg,sbang-sbrnd,sl slty,sl
—  — 8u CG calcTR,SLTS
I 4 _—l—_—
N —F
Pl
C =
Soaping ——
WOB 0-1 ~ _El:: o
PSI 395 — —13 Ty SH dkav-mdk
RPM 31 — | aKgy gy,
=4 — = [ mfrm blky,ncalc
: - — .%? 9u CG TR,SS, TR SLTS
JE=1 |
i = i SS wht-off wht,vfg
C i -fg,sbang,gsph,sl
> = i slty,pyrxls,vs! calc
<< = 1 SH,mdkgydkgy,mfrm - v
\) — e sft,blky-vf plty,
= o ) 10u CG SLTS,lt-mgy,mod mv
Soaping () [ — L cmt,occ aer,musc bio
WOB 1-2 ~= !
PSI 339 (I — ; 31l
= — 1>
RPM 79 —l== i
> =———=4 |
———1 | SH,dkgy-mdkgy,
\ ——=—1 | mfrm,mstly blky, s/m
— 1 [ plty, vsl-ncalc
— —1 W 8u CG TR,SS,TR,SLTS
=—
! B 11 T T e —




Soaping
WOB 0-1
PSI 365
RPM 36

D

Soaping
WOB 3

PSI 376
RPM 33

Soaping
WOB 2-3
PSI 400
RPM 33

Soaping
WOB 2-3
PSI 400
RPM 45

Inclination 100

1 e = —
 F=— 30
K | —— | I
\_ — 1 connections
2 = — [
£ =——sli
ROP (ft/hr) —— 1S o e
| —— | 3 11U CG opho
B ) — |
I — ——— | s
N — — ] |
) ———1 [
(A? :— —— ¥ |
‘\ —— p——
N — — 1 [
~ =— |
N T—8 —
) | — — |
== K
-— —— | 9u C
1.1
18 H
) |
1 33u DTG
1 Rig rew
Service
@ 1066
/
11u CG
s
"I
1K
| 13u CG
13
b 12u
f 12u CG
| 14u C
1S

SH,lt-mgy vf dkgy,
mfrm-grty,sl slty,vsl
ncalc

SH,mdkgy-dkgy,
mfrm,blky-plty,sl
slty,vsl calc,TR,SS

SLTSTS,vlt-mgy,mod
t-cmt,dsm sh,tr bio,
sl calc,

SH,dkgy-mgy,blky,
slty,grty,aren,tr bio,
drty,

SS,clr,vitgy,offwh,
frost,vfg-mg,shbang
sbrnd, gsph,psrt,

mod vt-cmt,mica,tr pyr,

SS,vlt-mgy,clr,frost,
vfg-mg,occ cg,tr cngl
sbrnd,gsph,psrt,mod
Is cmt,occ uncons,

SLTSTS,vIt-mgy,tn,It
mbrn,mod vt cmt,
dsm sh,abnt bio,
occv aren,

SS,clr,vltgy,vfg,shang,
vt-cmt,occ slty,psrt,

bio,tr pyr,




Soaping
WOB 2-3
PSI 410
RPM 45

Soaping
WOB 2-3
PSI 420
RPM 40

Soaping
WOB 3

PSI 360
RPM 46

Soaping
WOB 3

PSI 380
RPM 46

4]

D

MD 1375 TVD 1375
Az 0° Inc 0.85°

Inclination 100

Inclination 100

0 ROP [(ft/hr) 13uiiCan
0 Gamma (AP] Lpu apo
N
> 20u DTG
Rig recal—
13ul"settings
11u
|1
H
n] 11u CG
J a
|
s '
- d 9u
~ |
))
= :‘
10u CG
=
>
10u CG
N —- |
> —— 124 9u CG
~N—=———
' dJ— I
b N— —
A — N
< — — ] |
P Picking up more H2 J=—=— ||
= I 10u CG
“ e '-'
\ O [ |
N
D - S
0 ROP |(ft/hr 100} 13 T, C1ican
Gamma (AR 20 0 1ho oho
<
> 1
< 1
\
= s
mrir T T 1117 17 T7T1771T1 7T THi

SLTSTS,vlt-mgy,occ
dkgy,blky,grty,occ
v arg,

SLTSTS,vIt-mgy,tn,It
mbrn,mod vt cmt,
dsm sh,abnt bio,sl
aren,

SH,vlt-mgy,occ gybrn,
grty,plty,occ blky,abnt
foss,cri,brac,bcmg aren
slty,

SH,vlt-mgy,occ gybrn,
grty,plty,occ blky slty,
tr foss,

Sltst,vlt-mgy,occ dkr,
blky,occ aren,dsm
sh,tr bio,sl calc,

SH,vlt-mgy,occ gybrn,
grty,plty,occ blky slty,
tr foss,

SLTSTS,vlt-mgy,occ
vitbrn,tr vfg ss,wrnd,
gsph,occ vicmt,tr bio




SOAPING
WOB 2
PSI 370
RPM 45

Soaping
WOB 4-5
RPM 33
PSI 403

Soaping

WOB 4-5

PSI 394
RPM 45

D

Inclination 100

d
|| 4u
f 7u CG
N \"Ié——_
4 4:—: 9u CG
— [—————— |
Ty [ ———— |
]l 4 — |
Ny E—_ % 'Iv
> =—"f
i ) [ —— | 7u CG
[ _—_ 1
EIII"E“I' :—__ 1
‘ | — — | -ﬂ'
"~m <E__— [
“. e 13u CG
—  — | 1
) : — ﬂ 6U
< | — — | %
i N —— |
/ ———
\ [—————— | 5uU
L~ = — 1* 9u CG
e ——Berea— i
22 1571
-
y -
X
<_
—
0 % 10 u C.:S:Cl Cdn
<
[ |
8u
N
Y
{
J
<
\y Tu
L . I
ZOHIO SH LG
1M T T3> 1R27" [ =

[ || SH,vlt-mgy,occ gybrn,

grty,plty,occ blky slty,
tr foss,

Sltst,vlt-mgy,occ dkr,
blky,occ aren,dsm
sh,tr bio,sl calc,

SH,lt-mgy,plty,sbfrm,
occ blky,grty,tr mica
non calc,

SH,lt-mgy,plty,sbfrm,
occ blky,grty,tr mica
non calc,

SH,lt-mgy becmg dkr
,plty,sbfrm,occ blky
,grty,tr mica non calc,

SS,vltgy,offwh clr,
vfg-fg,occslty,sbrnd
gsph,fwsrt,mod-vt cmt

| SS,vltgy,offwh,tn,
vfg-fg,rnd,gsph,
fwsrt,mod Is cmt,
Ji| tr flor,good odor,no
cut

SH,dkgy,gybrn,blky,
grty,slty,abnt mica,

occ pyrxls,




Soaping
WOB 3-5
PSI 387
RPM 37

Soaping
WOB 3-6
PSI 426
RPM 34

Soaping
WOB 2-9
PSI 397
RPM 36

Dusting

D

Inclination 100 o

< | ————— 1 %_ 1
< | —— | --!
— — o
S ——— {8}
) — — 1=}
y 4 —_— |
k) — —— I}
rd — — 1 Tu |
\ [ ———— | u | |
— 6u CG
> —— |
/ | —— pr—
¢ — —
AN —_— |
)] | ——
[ ¢ — —
Yy — |
4 —_— |
— — ou CG
)( —_— |
pa —=—— s
} ——  — :
7 [ ———— |
\ ——— |
——— | 6u
C — |
N\ — |
p ) —_— |
[ 4 | ——
) — —
4 — |
Py 4 _— — |
—— | 7CG
/ = —
— =———
—=—— _[|I o> 13u
[ —— 1o
77— F=—°
"~ | ——— |
-ﬁ) e 6u CG
\ —
b N — |
 ——1 i
I | ————— |
_— ——— | 6u CG
[ < —_— | k
e | ——— |
N\ — —
S I— 14 ﬂ
ROP ﬁ/hl’i‘l 100— — § IT(5, C14C4n
Gam A{A? 200 ——— 0 1ho oho
) —_— |
y 4 | ——— |
[ § — —
\ ————— 1 N
3 — 1 ||
- - ) — —
HCasing poin ——— | fu
@ 1835' TV == | H
Midnight ——— 1 |} 6u CG
Depths — —
1835" —
— —— 1 |
ROP —3——— [{BloodHound Gas detector &
L ATl SNl —=—=— HChromatograph on linéd}—=F
# — | @1835'
e — .
1Resume Drlu — [—————— | % ]
1@ 6:32am ——— ]
(4 — |
I .\ |

SH,mdkgymgry,blky,
vgrty,mstlly slty,occ
pyrxls,ncalc

SH,mgy-dkmgy,blky,
sl grty,vsl silty,vsl-ncalc

SH,dkgy,gybrn,blky,
grty,slty,abnt mica,
occ pyrxls,ncalc

SH,gy-mgy-mdkgy,
mfrm-frm,blky slty,
occ pyrxls,vsl-ncalc

SH,mgy-dkmgy,blky,
sl grty,vsl silty, vsl-ncalc

Sh,mdkgy-dkgy,blky,
mfrm,sl slty,ncalc

SH,mgy-dkmgy,blky,
sl grty,vsl silty, vsl-ncalc




| hoic

Dusting
WOB 2
Rpm 45
PSI 358

Dusting
WOB 2
Rpm 45
PSI 358

Dusting
WOB 2
Rpm 45
PSI 358

D

I —_— — | =
— 1 U [ 1
L < —— --—<
= Trap Test
— 1]
N\ —=— [
—=—— [}
— SH
Y — — H-
1
1
SE
o
— HH
4.6u
11> V
K
i3
3
]
Inclination 100 Jo ROP|(ft/hr) < TG c1ican
Gamma (AR l1 5u CC
P
7.4u
[ |
| |
[ |
|
\
8u
N\
N
o
[Te)
&
p)
7.5u
|l
| |
[ < > )
N = 17u CG
| |
|
| |
| |

SH,mgy,dkmgy,mfrm-
sft-blky,vsl-ncalc

SH,mgy,dkmgy,mfrm-
sft-blky,vsl-ncalc

SH,vlt-mgy,blky,grty
occ slty,frm,non calc,

SLTST,vIt-mgy,tn,vit
brn,vt cmt,

SH,vltmgy,tn,vitbrn
occ plty,sb-frm,occ
blky,v-frm,grty,sl
calc,

SH,lt-mgy,occ dkr,
plty,sbfrm,occ blky,
grty,non calc,

SH,lt-mgy,occ dkr,
plty,sbfrm,occ blky,
grty,non calc,

SHAA.

SLTST,vltgy,occ vitbrn
blky,mod vt cmt,non

Il cale tr mica




1b.ou
o
o
N SH,lt-mgy,occ dkr,
plty,sbfrm,occ blky,
rty,non calc,
17.7u w
[
| — 1
— — 8
WOB 1.5 —— | 17
PSI 315 —  —
RPM 45 — —
—— pLan C
——— ‘J:—
~ | —
S =
—— — 20.2u SH,lt-mgy,occ dkr,
[ ——— | plty,sbfrm,occ blky,
——— 13 grty,non calc,
— —
-~ [ —— |
> [———
> F=— } 100
Dusting ——— | SH,It-mgy,occ dkr
\IévpomBA.254 ——— 17.4u plty,sbfrm,occ blky,
PSI 358 — —— grty,non calc,
N | —————
/ = 18.7u
J [ .
— —1 -
o
— 20— — . C14C4n SLTST,vltgy,occ vitbrn
a-{ARY @—_— ! blky,mod vt cmt,non
o ———— \ calc,tr mica
N ——— A\
N | — | 27u
= = —
~ | ——
- = =
> — | |
— — — _ ——| 37u SLTST,vltgy,occ vitbrn
— blky,mod vt cmt,non
o —  — calc,
— 41u
Dusting L —
WOB 2-4 = =3
Rpm 45 m—— N
PSI 358 =1 A
LSS [ — 4lu CG SLTST,vltgy,tn,mod
s | — — vt cmt,tr mica,
-~ —
C =—— 48u
> —— |
<. — —
~ ==
= — 1
~ e | SH,It-mgy,occ dkr,
»>_ =—= plty,sbfrm,occ blky,
_ grty,non calc,
—_  — |
[ 1
> F——— I
[ — — 19 [ |




Dusting
WOB 2-4
Rpm 45
PSI 358

Dusting
WOB 2
RPM 45
PSI 360

Dusting
WOB 1-2
RPM 45
PSI 385

MD 2500 TVD 2500
Az 0° Inc 0.87°

D Inclination 100

e ——— | Q | |
[ ———— | | |
| ] [ |
= — | |
—— — ] | |
[————— | | |
26u CG
21u
[
~15u
C =———
1 ——— o
7 7l &
[ < —
= )25U CG
<. :—_
D | ——— |
(l
" —
-3 e
0 ROP {(ft/hr) 1 & 5, C14C4n
Gamma (AP 0
Y 34u
< J
R
24u
e 250 CG
(‘_—_
—— | 24u
< =
i =———
., —l
- 32u
1]~ — | 4
S ==
Run DV == 28u
Ty —— | o
Iy =—— |«
—_— 136U S
% — |
[ | E_—— |

SLTST,vltgy,occ vitbrn
blky,mod vt cmt,non
calc,

SLTST,vltgy,occ vitbrn
blky,mod vt cmt,non
calc,

SH,lt-mgy,occ dkr,
plty,sbfrm,occ blky,
grty,non calc,

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,dsm sh,drty

SH,vltmbrn vitgy,plty
shfrm,occ blky,grty,
occ smthimp,non
calc,

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,dsm sh,drty




Dusting
WOB 1-2
RPM 45
PSI 385

Dusting
WOB 1-2
RPM 45
PSI 385

Dusting
WOB 1-2
RPM 45
PSI 385

0

A

Inclination 100

| ———— lo
— 0
b
i 31u
e
> — ]
& |———]
=—— 20u CG
-
_—— 20u
P — | —— |
- —
| — —
— — —
MM | e—
[~ — |5
—— S
0 ROP|(ft/hr) 20 Q C1]C4n
Gamma (AP]) N ————] 0 100d
I
32u CG
o
0
&

2700

I SH,vltmbrn,vitgy,plty

shfrm,occ blky,grty,
occ smth imp,non
calc,

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,dsm sh,drty

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,dsm sh,drty

SH,vltmbrn,vitgy,plty
shfrm,occ blky,grty,
occ smthimp

SH,vltmbrn,vitgy plty
shfrm,occ blky,grty,
occ smthimp

SLTSTS,vitbrn,tn,vit
gy,mod vt cmt,tr
mica,dsm sh

SH,vlt-mgy,bcmg dkr
occ slty,occ blky,sft
non calc,

SH,m-dkgy,mbrm,
occ plty,sbfrm,occ
sft,non calc,




Dusting

WOB 1-2

RPM 45
PSI 385

Dusting

WOB 1-2

RPM 45
PSI 400

Dusting

WOB 1-2

RPM 45
PSI 400

2750

18u CG

Inclination 100

ROP

2800

Gam

a‘,_23u CG

.- r¢
4=—— -
= —— N\
—
e — o
———— |18
=== \
T — \
E—— 490
| — [ 4
e 1
1 J=———] f
—  — \
<‘: =1 \
=—— |« ¥17u
-
J=—— | 1
< = [I\
N — ik Cll4gOOO ppm
—=— A
% —  — \‘| C3 24000 ppm
¢ — C4 22900 ppm
{) — —— c5 330;00pp;rr
__t' — — K I I
(_' = | 18u CG
—  — ]
> ——— 1o { I
N —— | § 22U
) [ ————— |
I e |

SH,m-dkbrn,vit-dkgy
plty,frm,occ grty,v-
frm-hd,non calc,tr
pyrxls,

SH,m-dkgy,dkbrn,occ
Itgy,plty,sbfrm,occ
occ blky,grty,non
calc,tr scatt pyrxls,

SH,m-dkgy,dkbrn,occ
Itgy,plty,sbfrm,occ
occ blky,grty,non
calc,tr scatt pyrxls,

SH,dkbrn,dkgy,plty,
shfrm-sft,occ grty,
non calc,

SH,m-dkgy,dkbrn,occ
Itgy,plty,sbfrm,occ
occ blky,grty,non
calc,tr scatt pyrxls,

SH,m-dkgy,dkbrn,occ
Itgy,plty,sbfrm,occ
occ blky,grty

SH,lt-mbrn plty,sbfrm
occ blky,sft,abnt flor
v-fnt cut,




Dusting —  — SH,m-dkbrn,plty,
WOB 1-2 Z = — shfrm,occ blky,gr-
RPM 45 — | — | ty, non calc,
PSI 400 S [ —————— ] 344
4 —— |
) J ——— |
\ —— |
D —  ——
/ ——— |
—  — 48U SH,m-dkbrn,plty,
) [ ——— | sbfrm,occ blky,gr-
— — =] ty, non calc,
0 Inclination 100[fo ROPKt/hr) 200———— 8 Th. C1iC
n GammgAPL) 00— — ANE 1 55u CG.
——— 1 Wc215200ppm
/‘P [ ————— | r)
L ———
— | | |
| —— | | |
() —— ’ SH,m-dkbrn,plty,
Z [ ——— | | shfrm,occ blky,gr-
— — | | ty, non calc,
) ——— |
Dusting ——— ]
WOB 2.5 — ———
RPM 48 —  —
PSI 421 > [—————— |
[ ——— | SH,m-dkbrn plty,
—— 1 sbfrm,occ blky,gr-
E — § 24U ty,frm,
> — |
r | ——— |
— — 43u
—  — A
H-Running = ——— ‘
IR > —  ——
1-Gyro from e ——— 386U CG
[l 3069' con<C— — | i SH,m-dkbrn plty,
— | shfrm,occ blky
. —  — .grty, ncalc,
> = — grty
| — — | ]
S — —
~— ——— |
7 F=——=—1s
V4 [ ———— b=
[ § — | SH,dkgy-m-dkbrn,
[ ——— | slmd-mfrm-mstly plty-vf
\ — — } blky,
| ——— | &
Dusting <J —— |
WOB 2.2 e ——
RPM 26 — [ ————— |
PSI 376 [————— |
— | 22 U
| —— ~
| — — | l |
- [ — | SH,m-dkbrn plty,
p- —_— | shfrm,occ blky,gr-
~ — ty,frm,
~ = 1o
| — — | CT')
> — |}
(\ _—__
E—— — | SH,m-dkbrn plty,
- ——— shfrm,occ blky,gr-
\) —  — ] ty,frm,
J | ———— |
< —  ——
N ——— |
Dusting [ { — |
[wog 26 \ e




PSI 398

Dusting
WOB 2.5
RPM206
PSI 407

Dusting
WOB 1.2
RPM 31
PSI 281

Dusting
WOB 2.1
RPM 31

Dusting
WOB 0.8
1RPM 32

0

4

Inclination 100

[ ————— | 15u
> 4 | ———— | |
< — —— [
— =—— 1. 124
0 — & . C1lcan
F'Midnight Deptha-(AED) ﬁ:—_ 1 0 10(d
13200 > —_—
> —— | F18u
, —_—
~ [ ————
——— | 6 u
> —  —
— 13
— &
g%:—:
7 — |
p— _—_ __{ —9 u
&~ [ ——— |
N\ ——  —1 <
) = — B
) =—— >
=—— 41 u
) ———— i
— | =
==
r 4 = ]
[ { = ]
/) =—
~ == 12u
e =——]
4 = ]
— = ]
=— ] >
= _ NG 33u
=—F <
—  — b |
——— | & 46 u
=  — \
——— \
[ ———— | =
7 — | ] ((l 72
=—— ‘Il
<4 =—— 56 u
= p R Tiem——

SH,m-dkbrn plty,
shfrm,occ blky,gr-
ty,frm,

SH,m-dkbrn plty,
shfrm,occ blky,gr-
ty,frm,

SH,m-dkbrn plty,
sbfrm,occ blky,gr-
ty,frm,

SH,m-dkbrn plty,
shfrm,occ blky,gr-
ty,frm,

SH,m-dkbrn plty,
shfrm,occ blky,gr-
ty,frm,




| PsI 208

Dusting
WOB 0.8
RPM 37
PSI 298

Dusting
WOB 0.8
RPM 38
PSI 408

lo

0

Inclination 100

Inclination 100

R — IS B | | [l
g O —° I 1
{ =——— 40 u
[Wait on AIIR = —— »
[16:20am ==
ik | ‘\—_‘ [ ————— | = 54U
| =—— | ¢
~ [ ———— | \%
7 [ ———— |
( — —
L — — ‘
=—— ¥ 40u
——— | rd
) — |
.:' ——— ]
/] _—_E
=< —=—° 22u CG
\‘ — |
) =——
C = mi o0
o~ [——— ]
> — —
el [ —————— | N
, L — —
Ly [ ———— |
) —  — \
[ 4 — | ) )
[ § | ——— | [ 4
\ — — L
P —  —— N
=—— 18 53u
{ —— |
\ — —
() —  —] i
— =—— U CP
— — I"replaced poly-flo ling|
N — |
/] —— |
( — —
> = 20u
< | ————— | u
> — —
( — —
Midnight Depti F=———
?}544' F— —T
) | — — 1o
- =—3
" —=— 1 N26u
<. —  — |
iy — —
4 p——
— — | 42u CG
—~ T S .
/ I |
4 ONONDAGA T 43u
& 3571 ———
3 ——
] e
J ———
< e e
3 ——
\ e
)] ———
{ e e
)] ——
)l ——r—
[ 4 =—=r=13
g (%gp mgn 32( _—:11:':::':| : « § - 0 1000
> == 22u
§ ===
I) #
[ ——T—
1> I —————— |

SH,m-dkbrn plty,
sbfrm,occ blky,gr-
ty,frm,ncalc

SH,mgy-dkmgry,blky,
mfrm vf frm, ncalc

SH,dkmgy,dkmgy,
vblky,mfrm-slfrm,
occ grty cut,ncalc

SH,dkmgy -dkbrn,
blky,fnr cut,mfrm,
sl grty,vsl calc,TRLS

SH,brn-dkbrn-mdkgy,
mfrm,blky,sl smthr txt,sl
-mod calc,vry sml

SH,mstly dkbrn,sm brn-tr
of mgy,mfrm

blky,good cut,sl calc
sl-calc,TRLS

SH,dkgry-mfrm,blky
blky-plty,sl grty,sl-mod
calc,LS,off wht-tan-clr,

LS,It-mbrn,tn,offwh,
cprxIn-mcexin,cin,hd

dns,TR, SH



_ ) N N = )
=38 = =38 = > c = c >c= 3>
=< S .o =< = - < O 2o n
£c 3= g £ < £7T B = ESEQ
S S =35 g S S ) =3 o g ER ]
c c c = c = gy ccS = E L= -
=% =%Z = £3 =x%© Ec, £35=
S oo S o= S o< - 2 cox X = - 20X
S ES S EE S ES £ s X 8= fEQL
E<s Ec2c ESE sc2 Ec? e== s£2%
= v =xXT a5 =y =xT =xT =3¢ = xXT5
0 ac oo wac » 8o wao wo E nw o =
4 0o Jo0c> 4 0o e = o< — > &= e &
ﬁu g
O
Lo
—
Q) O D >
iy O 3 & O o
S > = < > S > a
& 5 & = : 3 o
[ X | 3
- - 5 ————
{\ - N
=
‘
N
y \
. N . B
00.E 008¢€
<N atnnnnnnnnnnnnnnnnnnnEnnTnnm IEE N EIINER i it
R L EGEELBEGEEGBEGEEGGEGEEGEGBEGGEGEER GG ikk AHARHAR 4 AR 4 AHARHAR AHAHARHAH
7 Sk
o
a,
o —
SO| =
o -
= T|® 25
N\ S s ER
\ o om ol
N/ N MTMA A I N\ /T N AN "
Ve, [ Vv \ YARAY \| / N VTN |/
\- o \ "4 ‘
o
(=3
S
c
p=]
T
£
S
=
o
o ~ 0 o
28y 58y z £28s
= = » = =
S9aw 50a®» 5 S9aw
n=cxa A=cxa %) n=ca




Soaping
WOB 0.9
RPM 101
PSI 465

Soaping
WOB 1-2
PSI 465
RPM 37

Soaping
WOB 1-2
PSI 465
RPM 37

0

\-\\“\Jr vﬂv'\

\.’ﬂv'

N

ny

”v’\udﬁv

MAA

/\

‘uu*v*vhv’\vﬂv/

Inclination 100

P |(ft/hr)

Chmma (AP])

3850

3900

3950

4000

4050

28u

’ﬁﬂ--

} 39 CG

39

c

a1l
o
[

38u
|

I 38U CG

DOL, vIt-mbrn,tn,

vixIn-fxIn,occ suc,
occ intxIn,LS,offwht,
mcxIn,hd,dns

DOL,vIt-mbrn,vit-m
gy,vfxIn-fxin,scatt
anhy,tr vug,

DOL,m-dkgy,dkbrn
mcexIn-vfxin,occ
dsm sh,

DOL,m-dkgy,dkbrn,
mcexIn-vfxin,occ fxIn,
hd,dns,

DOL,m-dkgy,dkbrn,
mcexIn-vfxin,occ fxIn,
hd,dns,

DOL,m-dkgy,dkbrn,
mcxIn-vixin,occ fxIn,
hd,dns,

DOL,m-dkgy,dkbrn,
mcxIn-vixin,occ fxIn,
hd,dns,

DOL,m-dkbrn,offwh,
vf-vxIn,mecxIn,hd,dns,

T T T 1771228 11T 1T 11N




Soaping
WOB 1-2
PSI 460
RPM 48

Soaping
WOB 1-2
PSI 465
RPM 45

Soaping
WOB 1-2
PSI 450
RPM 53

0

N

rd

Inclination 100

ROP |(ft/hr)

Gamma (AP])

N\

\-/P \v’\v”\v’\v

4100

4150

4200

4250

-

16u

16U CG

16u CG

}-25u

) 20u

:18u CG

---&-1¢$:
(o]
c

27u CG

DOL,It-mbrn,dkbrn,

vf-vxIn,cln,hd,dns,
tr anhy,sl-mod calc,

DOL,It-mbrn,dkbrn,
vf-vxIn,cln,hd,dns,
tr anhy,sl calc,

DOL,It-mbrn,dkbrn,
vf-vxIn,occ intxIn,
cln,hd,dns,sl calc,

DOL,It-mbrn,dkbrn,
vf-vxIn,occ intxIn,
cln,hd,dns,non calc,

DOL,It-mbrn,dkbrn,
vf-vxIn,occ intxIn,
cln,hd,dns,non calc,

DOL,m-dkbrn,clr,
vfxIn-mcxIn,hd,dns,
anhy strng,

DOL,m-dkbrn,clr,
vfxIn-mcxIn,hd,dns,
anhy strng,

DOL,m-dkgy,dkbrn,
mcxIn-fxin,occ hd,

dns,occ anhy,




Soaping
WOB 1

PSI 432
RPM 55

SOAPING
WOB 1.3
PSI 427
RPM 67

Soaping
WOB 1

PSI 432
RPM 60

0

vf‘uq"‘a

A\UAJAV

v VA‘\vﬁ qvhx//n\hvf

Inclination 100

ROP |(ft/hr)

20

Gamma (AP])

20

\.~

-

"

ﬂN.F-Jﬁ\vﬂ

urir it~ LI T THI
39u
§ 30u
|
{
\
)
38u
| 34u CG
< 33u
30u CG
3 T, §1iCan
35u
30u CG
1
J
J:36u

DOLm-dkbrg,tn,off
wh,mexIn-vixin,
hd,dns,

DOL,m-dkbrg,tn,off
wh,mexIn-vixin,
hd,dns,

DOL,m-dkbrn,tn,
gygrn,mexin-vixin,
hd,dns,

DOL,m-dkbrn,tn,
gygrn,mexin-vixin,
hd,dns,

DOL,m-dkbrn It gy,
mcexIn-crpxin,vxin,
hd,dns,

DOL,m-dkgy,dkbrn,
mcxIn-fxin,occ hd,
dns,occ anhy,

DOL,m-dkgy,dkbrn,
mcxIn,occ hd,
dns,occ anhy,




<
\?\;)ggirig DOL,m-dkgy,dkbrn,
[ ¢ | | mcxIn,occ hd,
PSI 432 MD 4515 TVD 4515 P dns,occ anh
RPM 60 |Az1.7°Inc0.85° y ! Y
pJ [
~
i
/
34u
<
DOL,m-dkgy,dkbrn,
mcxIn,occ hd,
dns,occ anhy,
o
o
e
42u
>
Y 4
\ A
\ 43u
[ 4
L\
! DOL m-dkgy,dkbrn,
\ mexIn-fxin,occ hd,
} | dns,occ anhy
2 63u
N\
Y
[
\
Soaping ,’ =
D Inclination 100 ]o § ROP|(ft/hr) 20 L 6, C11g
WOB 1 nefnaten ::mn’]a(A';DI\ 20 = 1 1 0l 1004 DOL,m-dkbrn, It 9y,
PS| 432 mcexIn-crpxIn,vxin,
RPM 60 hd,dns,
~ 56u
B
}i66u
f
} DOL,m-dkbrn It gy,
/ mcexIn-crpxIn,vxin,
(\ hd,dns, TR, SH
() |
\‘ 53u
o
\‘ §
[\
))
[
))
( DOL,m-dkgy,dkbrn,
mcxIn-fxin,occ hd,
Soaping Midnight Depth dns,tr SH
WOB 1 1608
PSI 432
RPM 60
54u
(§ DOl,m-dkgy,occ Itbrn
\) = vixIn-vfxIn,occ arg,
S
J 4 <
J | |
<
N\
~N 52U
/
N
| 111N 1 mbhre i Al Ay




Soaping
WOB 2

PSI 431
RPM 57

Soaping
WOB 2

PSI 450
RPM 52

Soaping
WOB 2

PSI 450
RPM 52

Soaping
WOB 2

PSI 450
RPM 52

D

Inclination 100

y 4
[ {
7 51u
\
3\
) )
[ §
\
)
[ 4
7
- g #-49u
b}
pJ _
f—TOOH-
Pé 2:17am @
N 4775 L
> |
%mlge 2:6511 TG::.
["Resume drIghﬂ_ ﬂ
::10:55ammri :
) )
<
>
rd
Bott — S
0 RO! ,_,Q, O = X 6, c1ican
'b_Gleme gmr: — 0 1004
| 4798 ?t—
<. —  —
~S =——
\ ——=
N /=
i ! - —
S = 9L|J|
— | [
N=— 12u
<~ =———]c
———— 13
\5 | ————— 1<
{ ——— 13u
) | —— p—
7 =—]
[ ¢ —— |
\ | ——— |
P — —
o
= = ——]
\ = 15
O | ——— | u
P pr—
< ————
>
¢ | — |
) — gl —
~ [t 23u CG
[l o = o a3
\) —— 2
[ 4
[ Q
> — — ]
< —— |
D - —— | |
( — |
L —] |
> — | |
S —— |
S =—1 {
p ) —_—
[ 4 | ——— |
) | —— p—
[
L\
> |

| | Bt AR R EE LA~ D §

mcxIn-vfxin,occ fxIn
occ arg,

DOL,It-mbrn,tn,occ
dkr,vfxIn-fxIn,occ
arg,

SH,lt-mgy,lt-mgygrn,
tn,blky,frm,occ dolic,
occ plty,sl calc,

SH,lt-mgy,lt-mgygrn,
tn,blky,frm,occ dolic,
occ plty,sl calc,

SH,lt-mgy,lt-mgygrn,
tn,blky,frm,occ dolic,
occ plty,sl calc,

trpyr,

DOL,vIt-mgy,gygrn,
tr rd,sltsts,tr chert,
,hem,glau,

SH,gy,gygrn,rdbrn
plty,occ blky,dolic
slty,hem,glau,

DOL,vltbrn,tn,gygrn
rdbrn,mex-vfxin,v-
arg,occ sltst,




Soaping
WOB 2

PSI 450
RPM 52

Soaping
WOB 2

PSI 450
RPM 52

Soaping
WOB 2

PSI 440
RPM 40

D

Inclination 100

0 Clinton 5004

= —— |2
— <
P S
S
-
- DN
=
-
- e —
|_ —
— — o
= S
0 RNOP Ifft/hr) — . . .~ . . ]

/

YoED

c

Nl 4

gl o
RN
<

/T~

5100

Medina

e

-~

/ ‘Vﬁ\ /r\

~——

'IQueeqston @ 51

VN

\/

5150

DOL,ltgy,gygrn,rd
brn,tn,mex-vfxin
sltst,chert,arg,hem
glau,

SLTSTS,rd,rdbrn,
mod vt cmt,hem,
occ arg,0cc aren,

SS,clr,offwh,vltgy,fg-
vfg,occ mg,shang,
msph,psrt,mod vt cmt,

SS,clr,rd,gybrn,occ
grn,vfg-fg,rnd-shrnd
gsph,occ ang,vt cmt,
occ slty,bcmg arg,

SS,clr,gygrn,dkbrn,
vfg,and,psrt,slt,.dsm
sh,drty,bcmg arg,

SLTSTS,m-dkgy,dk
brn,gygrn,mod vt
cmt,occ v arg,

SH,m-dkgy,gygrn
blky,grty,v slty,sl
mod calc,

SS,clr,vfg-fg,rnd-sh
rnd,gsph,fwsrt,mod
cmt,




Soaping
WOB 2

PSI 435
RPM 40

Soaping
WOB 2

PSI 435
RPM 40

Soaping
WOB 2

PSI 435
RPM 40

37u
45u
]
[
42u
[l L S
Inclination 100 Jo ROP ft/hk) 100p-— " s 5. CWlC4n
ol Gamma (AP) o—— u) m72u_
Q —— | cG
~ ———————— |
» | ————— |
— | [ 4l
> | ————— |
— —
i =
< [
12 =
S~ =1
] o
—— 18
| ——— | w
o — |
— ——— S 66U C
Y = 1
— [
———— e
9 = ]
[ ¢ =]
) ———
| 4 ]
/] = ]
[ § =]
D) —_ —
( ==
P =—="]g
L= S
= ]
[l .
\ e
N o]
Y e
{ = ]
\ = ]
A [ ——— |
——— ] ! 37u cg
~ =———
S | ————— |
y4 ——— |
(&
S 3
< =—-=3
< [ ———— |
3 —— |
S | ——— |
» | —— [e—

SH,rd-brn,dkrd,blky,
occ grty,frm,-sbfrm,

SH,rd-brn,dkrd,blky,
occ grty,frm,-sbfrm

SH,rd-brn,dkrd,blky,
occ grty,frm,

SH,rd-brn,dkrd,blky,
occ grty,frm,-sbfrm

SH,rd brn,dkrd,tr of
grn,blky,mod grty, frm,sl
calc

SH,rd, rbrn,tr of grn,
blocky,vgrity,sl slty,
vsl-ncalc

SH,rd-rbrn,tr of mgry,
blky,Irgr cut,mod
grty,sl-mod slty,ncalc




Soaping
WOB 2

PSI 435
RPM 40

Inclination 100

“Q0 === t: /! | |
S [——— 1
D ]
. = —
cC =——
2 =—— |
— ==_ == 21u cg
; Midnight Deptir= == 5|t F o
e \
~ T=—
p k_—_
]
{ F————
V=
J [ —
[
\
P )
,,
Pl
[
Q \
R 3 {
> [
L 54u
\
) )
| y J
( 28U
7
T ——
| |
-_—— 51ucg
\
29u
(‘ lo
——— 3
/,
<
N
) = | 38u
/l :——
= = [{EDR System
— —— [{Trackingl
——— 1 || Error From
=— | 5564'-561511
—=—— [[NORop, Gas 109u CGI
————1 |{taken from
— ——1 |{passon &
—— 1 [fLagged

|| SH,rd-rdbrn-sl mr grn,sl |

grty!
sl slty,ncalc

SH,rd,rbrn,grn,
sl grty,sl slty,ncalc

SH:rdbrn w/fw mgry,
mfm,slslty w/sm
vftxt,blky,vslcalc-ncal
Tr.SLTS

SH:rdbrn w/fw mgry,
mfm,slslty w/sm
vftxt,blky,vslcalc-ncal
Tr.SLTS

SH:rdbrn-mgry,mfm,
sltytxt w/fw
vftxt,blky,vsl-ncalc
Tr.SLTS

SH,lt-mgy,occ gygrn,
plty,sbfrm-frm,sl
calc,

SH,vlt-m gygrn,occ
gybrn plty,sbfrm,
occ grty,frm,mod
calc,

SH,vlt-m gygrn,gybrn
occ plty,sbfrm,occ

1 grty,frm-bcmg Imy,




Inclination 100 l ROPJl(ftlhr\ 100———1 8 ITGRC1ICAn ru}nc |
S emn 100 ——— 1 1 0 1
TD @ 5615 ——— |
@ 7:25am ——— |
I | ————— |
TTTTTTTrrrny e SH o vith
HResume Drl —— | 1 :mgry wiw vitbrn
Tresun 93 = — [10u occ,mfm vitxt,blky,
H@ 5:50am—- [ ——— | ‘ slcalc
i ——=———
_— =—— | 11u CG
< —
N\ =———
—— SH:mgry w/fw vitbrn
—— 1 occ,mfm vftxt,blky,
— — 13 slcalc Tr SLTS
| ———— | w©
Soaping (Jb [ —— |
WOB 2.3 (§. [ —————
PSI 465 [ ———— |
RPM 45 X =——— 13u
) [——— ] SH,It-mgy,occ gybrn,
——— ] occ plty,smth imp,
—  — occ blky,grty,Imy,
[Stop Drlg @) = — y.grty,Imy
18:23am——¢ [ —— |
170 run gyromN =——
D 5638 TD 5636.11H0ad N0 e ——
RIS |00 ™~ y = 1 SH,lt-mgy,occ gybrn
H [ [ — ,It-mgy, aqy ’
15699 & ——— 13| occ plty,smth imp,
j—— — |~
\) Resume — = B I occ blky,grty,Imy,
/ Drl = Bit #6 7 7/8" Smith
DRLG W Nto: 1% a(?)n—___:___ 12u SD1513in @ 5699
Fluid ) I ) — | f( W/Downhole motor
WT 10.7 (/ = ——
Pt d [ ——— | SH,lt-mgy,gybrn,occ
\ E—  — plty,smth imp,occ blky
5 | —— | Imy,
[ d —E  —— ‘
\ — — | |
() — A
) =— 0
>4 —  — 13u
. ==
v 5750 TV 5748.01 ,’ = — ] 5 SH,vIt-?gy,occ <|jkr,
- 7318.4° Inc 3.1° = — occ gybrn,occ plty,
Fluid N —=—— 1 13u smth imp,occ blky,
WOB 6-9 > =—— i
PSI 2168 < =—— | I Y.
RPM 48 () [ —————— ] I
~ == pShootTes! SH It dk
[ —————— iy — vit-mgy,occ dkgy,
r —— ::'Gra‘s In :F> 120u occ LSinclocc plty,
———— IS stem TT no calc,occ Imy, w/
| ! =—— 22u foss
Slide MD 5782 TVD 5779.9 —— i
WOB 3-4 |Az311.4°Inc4.1° E—————— | 1
PSI 2125 —— 271u |
E————— | 16ll ! SH,vIt-mgy,occ dkgy,
\ T e : occ brn,plty,sbfrm
o —  — 15 - smth,occ blky,Imy,
10 ——— | =
Inclination 3 :{22“ }2‘ = o) i - 14U1 Can - 1
V4 — |
== =
L | —— p——
: \ 7 —
MD 5814 TVD 5811.8 = ——
Az 300° Inc 5.8° / { —  — \ SH:vlt-mgry w/occ




Slide
WOB 5.3k
PSI 2248

Mud Data
WT 10.75
Vis 59

BU 20min

Slide
WOB 9
PSI 2317

Mud Data
WT 10.7
Vis 58

Slide
WOB 9
PSI 2317

RRP 20

MD 5845 TVD 5842.6

Az 295.6° Inc 8°

MD 5876 TVD 5873.2

Az 293.3° Inc 10.2°

MD 5908 TVD 5904.5

Az 291.4° Inc 12.6°

MD 5939 TVD 5934.6

Az 291.2°Inc 15.1°

MD 5971 TVD 5965.4

Az 291.6° Inc 17.3°

0 ! Inclination 10

MD 6002 TVD 5994.8

Az 292.4° Inc 19.5°

MD 6034 TVD 6024.7

Az 2I93.4° Inc 21.8°

————— I NN R |
— — 16u
N :_'EE— ]
> =——— 17u
| ——— |
]
P 1Ty —  —]
] — |
\ < | ———
) ] —
Y P — —
L — 1o |
e — =—12 -18u
—_— re)
IMidnight Depthy ——— |
| 5866 = —— %
0y i — —
iy = 19u CG
== u
?—37 = == |

4 [ ———— |
rd —  —

,l \‘ = —— "18u
k‘ <' — —]

)| ?‘ | ———— |

§ ——— ]
N 18
[ ————— | |
i ——— | | L
( I — |
—— 1|5
— 13 H:23u
) = — I
J el — | | |
< F— T — 5 =
[ ———— | i
L — ——

h § | ——— |

Vi 2 ———

Z == 25u CG ,

— =—— | |

— — 35u
| =———7 |

. — —
< | T —  —]

™\ e ——

T — [ —————— |

/ — —

{ . — —1 3 25U

P |7 — 13 [ {
< —  — ) |

) ——— | |

& —~ —— — ] ‘}'_

T P4 | ———— | |
Uth‘ TN [\ ——— ( 30u
5970 MDermm iy == \
5964" TV Dt = 1

< — = —

> — |

N (‘?_: —
< e — | 37u

I E————— |
¢ —  —
h =T — 5| \)
— y A
£ E=s==18
N ROPI(ft/nr 0wh———13 T C1iCan
GAmA (AP — 10— — 1 0 100

\ T E———

p ] — |

L4 [ ————— |

[« EF— —
— E——— |
™ E— —
(/ = _—
> —— x|
TN ——
I, U, E— T 44u

Q [ ————— |

\ Iy 2 E—= —— ‘]

\ — — [ A

e I 11 1

|1 IEOTHLS DI, ST
blky,Imy

J| SH:vIt-mgry w/ occ
drkgry-brn,sbfrm,

smth,occ blky,Imy
I scatt flor,v-fnt cut,

-

SH:vlt-mgry w/ occ
drkgry-Itbrn,sbfrm, smth,
blky,Imy

SH:mgry-vltgry w/sm
drkgry wlocc
Itbrn,sbfrm,smth,
blky,Imy

SH:mgry-vltgry w/sm
drkgry wlocc ltbrn

| ,sbfrm,smth,blky,Imy
no flor,v-fnt cut

SH:mgry- mdrkgry
w/abdnt drkgry w/occ
Itbrn,sbfrm,smth,
blky,Imy

SH,vlt-mgy,occ gybrn,
plty,sbfrm,occ grty
Imy,frm,

SH,vlt-mgy,occ dkr,
plty,smth,sbhfrm,occ
blky,v calc,bcmg clnr,




Slide
WOB 10
PSI2328

RPM 40

Slide WOB
7
PSI2389

Mud Data
WT 11
Vis 58
BU 22

WOB 6
PSI 2432

WOB 6K
PSI 2440

MD 6

MD 6!

MD 6

MD 6

MD 6

MD 6.

065 TVD 6053.3

Az 294.2° Inc 24.1°

097 TVD 6082.2

Az 293.4° Inc 26.7°

128 TVD 6109.5

Az 292.3° Inc 29.3°

160 TVD 6137.1

Az 292.3° Inc 31.7°

191 TVD 6163.1

Az 292.1° Inc 34°

clination 10

223 TVD 6189.3

Az 292° Inc 36.4°

MD 6.

255 TVD 6214.6

1Az 291.8°Inc 38.9

T - — = — 38u
Cd < ]
i Y —— N
Ny f=——=11% |
,( e 41u CG
g — |
[ - e —
[T~ [ — |
V4l LN | ————— |
N g F———
N  — ———— 43u
{ it ————
)i S e\
’1 N —
pd [—— |
4 P — —
[ 4 ] — —
N S —— lt‘
= e V‘SZU
X [ ————— |
Vd Pd — | |
‘\ )] ——— lo
p ) P, — |
[ < — —
U [ ————— |
> [ ———— |
- | ——
[ Q — —
) [ ————— |
i e ———
I o S— — 43u
||| M —  —
)) | ——— |
——— | 39u
i1 | ——— |
[ § — —
N — —
< — | L]
Ty — —1 3 L ¥
5 7 " )
A —— 1 — 52U
Vel —  — |
™ — |
N | ——— |
™\ — —
)) — —] |
4 — | \, 51u
=== y
[T —— Y.
)] )' | ———— |
s TN — | 52u CG
v iiD Y | ———— | |
Pt el =T |
{) N —  — Lo
L4 > | —— |
S T
=——18
\ ROP ftlhg 0= 3 ') TG c
7/ Gammal(A by n——= 1 58U 0l
[ ¢ — |
3 = —
( i ——— ] ~
[y 11T = —— 73u
(4 N | ————— |
Y yd — —
] ) ™ —  —]
( E= =
~ e >
| — | > 64U
|2 — — 4
[~ == — )
L — | /J
b ——— ] ¢
[ ———— | .
— =—— 167u CG?*
| ——— 1= | |
e o -
T dnigh: DeptiF=—=—

SH,vlt-mgy,occ dkr,
plty,smth,sbhfrm,occ
blky,Imy,calc,

SH,vlt-mgy,occ dkr,
occ plty,smth,occ tr
foss,occ Imy,

SH,vlt-mgy,occ dkr,
plty,smth,occ blky,
tr LS strgr,foss,

SH,vlt-mgy,occ dkr,
plty,smth,sh-frm,occ
sl -mod calc,clnr,

SH,vlt-mgy,occ dkr,
plty,smth,sh-frm,occ
sl -mod calc,clnr,

SH:mgry-mltgry w/ occ.
drkgry, sft-mfm,plty/blky,
mcalc w/ occ. vealc
ABDNT
LS:wht-drkgrybrn
cIn-sishly

SH:mgry-mltgry w/ occ.
drkgry, sft-mfm,plty/blky,
mcalc w/ occ. vcalc
ABDNT
LS:wht-drkgrybrn, sishly
w/fw cln

SH:mgry-mdrkgry w/occ.
drkgry,sft,smth w/occ.
vslslty,blky/plty,mcalc
ABDNT

LS:modshly,mxIn




WOB 10K
PSI 2400

WOB 10
PSI2390

WOB 10K
PSI 2375

RPM 45

Az 290.9° Inc 40.8°

Az 290.1° Inc 42.7°

Az 289.9° Inc 45.4°

Az 289.6° Inc 48°

Az 289.5° Inc 50.3°

Az 289.1° Inc 52.5°

1 Az289.1°Inc 55.3

MD 6318 TVD 6262.34

Va

t

j

i
ﬁ

—

A

m
il

i

MD 6286 TVD 6238.4
L.

MD 6350 TVD 6285.3

MD 6381 TVD 63065

0 Inclilation 109 o

MD 6413 TVD 63275

MD 6444 TVD 6346.8

MD 6475 TVD 6365.1

2 =
\N" /"“ﬂ\\ /N’, \w,\b/ /ﬁ/ \"JM\\-,’\L

' = —— ~169uCG]
=3 =
— = —101u
| == -96u
——— | 123u CG
—— | i
== 1104u
‘ = 1. 110U
I — 13 T
[ ————— 1| N 1004
[—————— | 155u—
E=—— 121u
i h:T "
——— | 182u—T]
& - —=——|3
=— 1130u—
‘ P— —
\ =——
N ]
N\ | =———]
:__:T - [177u-
il ———

SH:mgry-mdrkgrybrn
wlocc.drkgry,sft, smth
wlocc vslslty,blky/plty,
slcalc -ncalc
Tr.LS:whtbuffbrn,
microxIn, mod-sishly

SH:mdrkgrybrn-mgry
wlocc.drkgry,sft, smth
wlocc vslslty,blky/plty,
slcalc -ncalc
Tr.LS:whtbuffbrn,
microxIn, mod-sishly

SH:mdrkgrybrn-mgry
wlocc.drkgry,sft, smth
w/occ vslslty,blky/plty,
slcalc -ncalc

ABDNT LS:whtbuffbrn,
microxIn, mod-sishly

SH:mdrkgrybrn-drkgrybr
w/occ.mgry/tr.drkgry,
sftmfm,smth, blky/plty,
slcalc

ABDNT
LS:wht-mgrybuffbrn,mfrr

SH,vlt-mgy,occ m-dk
gy,bcmg gybrn,plty
sbfrm,smth,tr mod
calc,tr flor,v-fnt cut

SH,lt-mgy,occ dkr,
plty,smth,occ sl
calc,

SH,lt-mgy,occ dkr,
plty,smth,occ sl
calc,




RPM 45

WOB 9
PSI 2415

RPM 48

Mud Data
WT 11
VIS 57
BU 24min

WOB 16K
1 p<I 2470

Az 289.1° Inc 58°

Az 289.1° Inc 60°

Az 289.1° Inc 62.1°

Az 288.4° Inc 64.1°

Az 288.2° Inc 65.9°

Az 288.9° Inc 67.9°

Az 288.3° Inc 79.3°

MD 6507 TVD 6382.7

MD 6538 TVD 6398.6

MD 6569 TVD 6413.68

CMD 6600 TVD 642771

MD 6632 TVD 6441.2

MD 6663 TVD 6453.39

MD 6694 TVD 6464.4

P [ =——— - {
7 = — ] 106u
4 == — =
N =]
[T =  — K
R ] N\
e h) \
N ) = | o [ §
—y ==53 } 136u
IS = ] y 4
[ [Ny =]
g P4 = ]
Y =
) = ]
) E——— = |
N\ N\ — —
) \) — —
S — 122
P~ =_—— |
S — & — T
\\‘k\ — — K \ _129U:]
Iy ; — )
(> i)
— F—r—
T =——— J / 2)-135u
[TTTRig Crew Service —  — %
p, e —— |
< Z — —
by — — 1
T N\
= S P 261u—
l i — — — G
7 —=———
[ e [ —  — y 4
N — /]
{ 1 | ———— |
N T [ — N\
< E— —— o ))
( [ § K «
' | ——— |
— — \ )
t — —] )] | |
N — LN
g’ == 261u
~ EF——— — | ﬁ
. — 18
0 ROPYAI) 10———18 TGAC1ICAn
0 e (API) n——= 1004
i —_— |
™ | ——— |
i =—— 233u{})
— =D
L/ Point ——— >
L~ Pleasant = — / \
P ——6612' MD—=—=—1
e 6430' TV f=—=— 383ul]
e [ —— | 2 1380u
- E——
—— \
[ ———— | )
1 ——— \ t |
i — 1 360u))

[ | ————— 15 J ? |
r ———13 N (4 [ |
! — =—— 398U

— =——— —
\‘ — | 453u i

L= — — r 4 r/

— [
—_— | )]
=—— CHKC

\ — |

i) [ ———— | 395u
yd — — []
— —] \ ] \
N [ ———— | y 500“'
— — [ [(
il — —]
(\ } —_— |
) D74 —— 1o

SH,mgy,occ gybrn,
dkgy,plty,occ blky
frm,mod calc,

SH,mgy,occ gybrn,
dkgy,plty,occ blky
frm,mod calc,

SH,m-dkgy,occ gybrn
plty,smth,occ blky,
v-frm,Imy,foss,

SH,m-dkgy,dkbrn,occ
Itr,plrt,sbfrm,mod-
v calc,

SH,m-dkgy,dkbrn,
occ plrft,mfrm,occ
blky,vfrm,occ Imy,

SH,dkgy,dkgybrn,plty
sbfrm-frm,mod v calc,

SH,dkgy,dkgybrn,plty
sbfrm-frm,mod v calc, tr
pyr,

SH,dkgy,dkgybrn,plty
sbfrm-frm,mod v calc,tr
calcxls,




12-17-11
RPM 0

WOB 12k
PSI 2466
SPM 202

WOB 16
PSI 2500

WOB 11
2630
RPM 38

—— 15 |
[—————— | \
™ —— ] 1
)] — —
{ =—— \
‘ | — — | ,
{ — | Ly
:) y i = 568U
! \’ | — — | )
MD 6726 TVD 6474.6 = —
Az 288.4° Inc 72.6° { — 4
> il e ——
[l J [—————— | \
——iidnight Depth— =——=— 395u CG\ \"
7 7 6778 MD ————1 5 ) )
< =—— rd {
. N 4 —  — ] \
MD 6757 TVD 6483.41] TN -~ —— |
Az 2885° Inc 74.5° — L —— | 510u
I LS T ————1- |
J i | — | ) j
.4 - ———
i — L § [ {
¢ e \ A\ Y
) S S — \ L\
S~ N e \
D> \\ = ) A4
< = — Vs 441u
: N } ———
MD 6788 TVD 6491.1) E——
Az 289.1° Inc 76.7° )) / —  — (I (’{'l
r — — \ \\
[ 1 e S { ‘
0 Inclination | 10080 § ROP|(ft/hr) w3
. Gamma(AP]) o —— 1 0
—  — 7
[ —————— ] C
— — \ (457 9\
— — \) T RS
=—— » 527y,
MD 6819 TVD 6497.4: —  — ]
Az 289.8° Inc 79.6° /() —— | (
\ —— N \
Y — —— )] h)
N —_— (4
[ —————— ] \
= \-—)-527uY)
— — ] /
L. — | 4
 \ - —— {
q — —
7 ————
—_— A
MD 6851 TVD 6502.49 el “I=——1° [ /4
Az 290.2° Inc 82.4 < 7~ E———— | 4
\ E————— J J
‘ —— —
L\ ——— |
)
{ ———
S ————
[ <y )y — ——
N === ALY
> S ——— 2444
MD 6883 TVD 6505:9 el — “\ [ ¢
Az 290.3° Inc 85.3] — ) %: ) 17
T ]
2 B — 7/ u )
/ Q  F——— ]
f N EE—=
{ YEF=——S \
N\ { e — 3 p)
P N e
Ny (= DI
g ——— /240U
! ] o
MD 6914 TVD 6507 5. l' ( — |
| Az291.3° Inc 88.7°| I { \ ——

SH,dkgy,dkgybrn,plty
sbfrm-frm,mod v calc,tr
calcxls,

SH,dkgy,dkgybrn,plty
sbfrm-frm,mod v calc,tr
calcxls,

SH:drkgrybrn w/limey
marl-drkgry,mfm-sft,
smth,plty/ blky, mcalc
Tr.LS:wht-
drkgrybuffbrn,
modshly-cIn ip.

SH:drkgrybrn w/limey
marl-drkgry,mfm-sft,
smth,plty/ blky, mcalc
ABDNT LS:wht-
drkgrybuffbrn,
modshly-cIn ip.

SH:drkgrybrn w/limey
marl-drkgry,mfm-sft,
smth,plty/ blky, mcalc
ABDNT LS:wht-
drkgrybuffbrn,
modshly-cIn ip.

SH:mdrkgrybuff w/limey
marl-drkgry,mfm-
sft,smth,plty/blky,
mcalc

ABDNT LS:
wht-drkgrybrnbuff,
modshly

LS,vIt-mbrn,dkgy,
mcx-vfxIn,hd,cln,

LS,vIt-mbrn,dkgy,
vix-fxIn,occ mexin,
drty v-fnt cut,

SH,dkgy,blk,sbfrm-v

frm,occ Imy,bcmg




| woB 22
PSI 2480

Wob 8k
PSI 2587
RPM 42

WOB 24
PSI 2570

RPM 42

WOB 19
PSI 2574

RPM 45

WOB 25
PSI 2590

WOB 33
PSI2600
RPM 46

( { (€81

MD 6945 TVD 6507.73

Az 291.6° Inc 90.6°

MD 6976 TVD 65074
Az 293.9° Inc 90.4°

0 Inclination 1

MD 7007 TVD 6507.4
Az 296° Inc 89.8°

MD 7039 TVD 6507.43

Az 296.9° Inc 90.1°

MD 7070 TVD 6507.1
Az 299.5° Inc 91°

MD 7102 TVD 6506.41

Az 301.6° Inc 91.6°

MD 7133 TVD 6505.49

Az 304.5° Inc 91.9°

‘\ { — pJ )
) | — | ¢ 1172u
J hY | ———— |
< P A
A Q — — > )
\ § — | W7
V4 | ——— | -
N = . -
D> —— / 212U
- P | ———— | [ § | 5
f = 1o
E——— re)
. =——1°%
) \ — —
J A Y — —]
( —
b ——— 212u-{f
> el e
< S ———— | -
\ — — |
P ) A — ]
[d [ — | [ ¢
) ) [ d | ———— | \
[ Q L F———— p)
> TN/ {
*Note* Lagged to I—=———"1 i1 e j
6985 were gas fell F=—= i ot b
~§out Tr C4 &5 = — = ~— T
\ | ———— | N\ Y
\ —  — | |\
— =— .|\ ]
ROP|(ft/hr) 1g————R TH. c1lcan
Gamma (AP]) oy = — 1 1 0 1000
(———— 190u
N = ]
T — — T
—  — z §218u]
) —— 252u
[ —— | N
| —— | S |
—  — N1 1
) | ———— | ) ]
) I — — /J 454u
| § - — —] [ §
[ 4 oy —— | \
[ § y 4 | ———— |
N S ——— ]
f —
nr . = 475y
[ J ——— f 7/
!:7 — 13 > =
=——°
{) P y) 3 | u
) — | . 316u
— —— N D> |
——— [d
— — | \ LN I
——— .
\ —  — 304u
— | [
= — H
) —  — 335u
4 —
¢ = — ‘]1
N =——
4 —  —— ) i
I'd ) —— | |
X S =— g ) 418U
\( [d — ,:' y
\N e | ———— | }))
3 — — '] v/ A
S~ e—
( —
N\ =——
r'd — —] I'\
5% =—— | —Brac 1
N ==
pd N =—— | i
.9 N | ———— |
b > — —
[ y 4 — —]
\ —
)) | ————— | v V.
g’ — pr—

cinr,v-mt cut

SH,m-dkgy,occ gybrn
blky,frm,v calc,tr
calcxls,v-fnt cut,

SH,m-dkgy,occ gybrn
blky,frm,v calc,tr
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frm,v calc,g-cut,




MD 7164 TVD 6504.5

Az 307° Inc 91.5°

MD 7196 TVD 6503.

OAZ 309° Inc 91.5° ¢

mennauorn

MD 7227 TVD 6502.89

Az 310.8° Inc 91.5°

MD 7258 TVD 6502.1

Az 313.1° Inc 91.4°

MD 7288 TVD 6501.4:

Az 315.5° Inc 91°

MD 7319 TVD 6501.0:

Az 317.9° Inc 90.7°

MD 7351 TVD 6500.5

Az 320.4° Inc 91.1°

) 4 — | \\
X ——— i
[ —— lo
5 == \
Vi E———— ))
> — | /J
| ———— | J V4
— — d [( ¢
\ [ 4 — — \ A\ Y
rd | ——— | q
h — — AY
} — — N
' [ ————— |
1 [ — —
R [§ —  — {
\ F———— | |
) === 407 CG
¢ % =—— -
\ N\ [ ———— | \'l
£ / ———
‘ — — o
Aol ROP [Ghr) 10— — ,8 4T“ C1€C4n (H
ol [T\ Gamfffla (AP]) —— AT \
) | — — \ \
! =—— , \
— == )
Y =—— ~
N\ ) ) — |
) [ —— | 471u
I’ > ——— J/ p/
| > — |
N\ :—— \ \ \
\l Z [ ———— | AY 358u
= E=F—= 448C
J < [ ————— 13 [ 4
b 1 \
AN — ') /) ) )
[ { < [ ————— |
rd ) — — \ \
h] ) | — —] \
) = 373U
.8 — —
—2 =——
A — E— 3 J |
| ¢ > ——  —— Z—403u
N [ d — |
7 e [ ————— |
< B ] — —
N\ — —] \
y ) — | )] ) )
r [ ————— | [ { r 4
— — \, [
h) — —] 9l
(I — | 7 \
 —— 1o
[ ] \\ — g
\\ N\ — |
) ) === = 411CG
— — 4
N\ yJ =——— py '(1 104u
4 =— \ \
7 [ ————— | \
LN — — |
[( — —] \
)\ = = — 445u
P — — )
— | [ §
J— — —1 o U |
) = —13
[ § | —— | [
— — NN
—  — A \ \

SH:drkgry-drkgrybrn
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